Solution to HW1                                      90-907   Fall 2005
1. Problem 14.2

Part a)
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Part e)
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2. Problem 14.4

The GLS estimator is:
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The result still holds when
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3. Problem 14.8

Part a) 
[image: image12.emf]
Part b)
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Part c)
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Part d) Please refer to the attached SAS file and output file for your reference. 
See output page 2-4. It appears that the equality and symmetry conditions are not typically satisfied in the OLS estimation models.  For example that the coefficient on the interactions in the cost equation does not equal the coefficients on 
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 in the two respective share equations. Similarly, the coefficient on log labor price in the capital share equation does not equal the coefficient on log capital price in the labor share equation. 

Part e)

See output pages 5-9. 
Part f)
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Part g) 

Compare the regressions on output pages 9 and 14. The difference in the log likelihood doubled is 

-2(380.8-431.5)=99.4. Comparing to the 
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table, at any reasonable significance level, we will reject the num that 
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